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There are 17 questions in all in this question paper. All questions arc compulsory.
Question No. 1 is multiple choice type. Question No. 2 to 6 are definite answer type,
which are to be answered in one line cach. Question No. 7 to 11 are very short answer
type, which are to be answered in about 50 words cach and Question No. 12 to 14 are
short answer type to be answered in about 150 words each. Question No. 15 to 17 are

long answer type which are to be answered in about 300 words each.
Marks allotted to the questions are mentioned against them.
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Four options are given in each part of question. Write the correct answer in your answer book -

(A) Which of the following substance is not a carbohydrate —

(i)  Celiulose (1)  Glycogen
(iii}  Albumin (iv) Glucose
(B) After completion of meiosis the number of daughter cells are -
(1)  Two (11) Three
(1) Four (iv) Many
(C) Earthworm bears clitellum on the body segments —
(i) 5,6,7" segments (i) 9, 10, 11™ segments
(iiiy 14,15, 16" segments (iv) 19,20, 21" segments
(D) The number of chromosomes in human cell are —
(1) 46 (1) 44
(iii) 60 (iv) 23
(E) The function of contractile vacuole in Amocba is -
(i)  Excretion (i) Water absorption
(iii) Digestion (iv) Osmoregulation
FiRea saiy gw

(Definite Answer Type Questions)

2. 29 SIS 59 99 BT qeor £ ?

Nematoblast is the character of which phylum ?

3. vodlofo &1 qrT A forfau |

Write the full name of A.T.P.

4. WER aREwRo 4 SR & @ FE g ?

What is the function of Haemoglobin in blood circulation ?
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Which chromosome is responsible for male child ?

foerere & quoh w1 @ wd R 7

What is the function of Gizzard in cockroach ?
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(Very Short Answer Type Questions)
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*Amocba is immortal’, Clarify.

1Y AEvl & IER W AN a2l A1 WHR § IR W e |
Difterentiate between male and fernale ascaris on the basis of external features.
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What is lymph 7 Write its two functions.
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Write four specilic characters of class Aves.
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Define Eugenics.
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(Short Answer Type Quesiions)
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Describe the mouthparts of cockroach with the help of diagram.
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Describe the process of blood coagulation in mammals.
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Whalt is binomial nomenclature ? Give its two cxamples.
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Write the classification and economic importance of the following animals —
(a) Silk Moth (b} Crow
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(Long Answer Type Questions)
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Describe the methods of ingestion of food and digestion in Amoeba.
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Describe the life cycle of Honey Bee with diagram.
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Draw neat and labelled diagram of the following (Description not required) -

(a) T.S. of stomach of Rabbit
(b) Reproductive organs of Earthworm
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Explain the process of sex determination in human with the help of diagram.
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Describe the internal structure of the mammalian heart with diagram.,
YAl (OR)
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Describe the physical and chemical propertics of protoplasm.
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